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fRder:() 39T o ¥ oot 28 We &1 Wt v sifvawd 2
Directions : There are in all 28 questions in this question paper. All questions are
compulisory.
(i) v &g FefRa sie 3% wmga 3ifded §
Marks alloted to the questions are mentioned against them.
(jii) Wl T B eaYdd Ufed T i TR dfeel
Read each question carefully and answer to the point,
(iv) e T 1 SEfaaeda v 1 39 e & T W8 & 7R H O faseq fedy e
&) w8 faaea s SeRyRae ¥ ferfae | s s 2 3 7 o iR swia s
&l
Question No. 1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your answer
book. Question No. 2 to 7 are definite answer type questions.
(v) 999 G 1 &1 T @U% B 31 BT | Je T 2 A 7 70 U 37 & 99 2
YT G 8 N 17 A 2 31 & T &1 we =1 18 | 25 ad i 3id & T
&) o9 TR 26 ¥ 28 IF TR 306 B W &
Each part of Question No. 1 carries one mark. Question No. 2 to 7 are of
one mark each. Question No. 8 to 17 are of two marks each. Question

No. 18 to 25 are of three marks each. Question No. 26 to 28 are of four
marks each.

(vi) wmwﬁwwaﬁ%ﬁma@r%aﬁﬁaﬁwuﬁﬁmﬁmm
fasan won 21 ¥ vl ¥ Faw v fapew &1 & IR Ao

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only cne of the given

choices in such questions.
(1] [P.T.O.
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1. (®) =4 Az owgs &

(i) 3> (i) e
(i) TP (iv) 30 Y DR T
In the following the Lyophilic colloid is-
(i) Milk (i) Gum
(ii) Blood (iv) None of these
(@) tfRe= & o
(iy wiaafa® (i) AT
(iii)  gfcreR (iv) GrEFEN
Penicillin is an-
(i) Antibiotic (ii) Antipyretic
(i) Antiseptic (iv) Analgesic
(M Toow faei & & 3 <afel  dar &7
i)y Fefma (iy foafme
(i) fefE c (iv) faef =D
Deficiency of which vitamin causes nightblindness disease?
(i) Vitamin A (i) Vitamin B
(i) Vitamin C (iv) Vitamin D
(&) Teore @ et dewieter § uRafdia fear e &-
() FaR9Y (i) AT
(i) AT (iv) DAROY
Glucose is converted into Ethyl Alcohol by-
(i) Invertase (i) Zymase
(i) Maltase (iv) Amylase
(5) =1 4 2 o el faeram o) sl oxar @2
(iy vRafes ame (i) ¥<SH 3F
(iii) 3Tl 3w (iv) IS 3
Which of the following reduces Fehling solution?
(i) Acetic Acid (i) Benzoic Acid
(iii) Oxalic Acid (iv) Formic Acid
(@) TP ¥ IR refed’ daeme & -
(i) g (i) eI
(i) 3D (iv) 379 9 PR T8
The impurities present in the ore is called-
(i) Slag (i) Flux
(i) Gangue (iv) None of these
430 (IGV) [2]
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(@) TSA-6 B TS 8- 1

(i) OReA (i) W=
(iii) B (iv) SucraeH
The monomer of Nylon-6 is-
(i) Ethylene (ii) Propene
(iii) Styrene (iv) Caprolactum
(31) Ao faeras o & foret e & o Aie ot & & 1
(i) faemas & 1000 w9 (i) ©® Tex oo |
(iiy oS oMex foomas & (iv) feos & 22.4 e ®

A Molal solution is one that contains one Mole of a solute in-
(i) 1000 gram of the solvent (i) One litre of the solution

(i) One litre of the solvent (iv) 22.4 litres of the solution
s i wRe: 1
fedt e o A fdmar s ... & quTguT @t 8
Fill in the blank:
The solubility of a gas in a liquid is directly proportional to the ........... of the gas.
3iffHar 2HI » H, + 1, B snfdadar saBel 1
Write the molecularity of reaction 2HI = H, + I,
0,, U Waet JHiaBRS o e fovar aai S 22 1
Why does O, act as a powerful oxidising agent?
K,[Fe(CN),] § Fe 3 3iadiaxor Hw a1 &7 1
What is the oxidation number of Fe in K [Fe(CN),]?
PeRYel WU 1 T wHevor fofael 1

Write chemical reaction of Aldol Condensation.
1 sRTsfraT REs A ARG & TR RN 22 Faa s e
ferRae | 1
How chlorobenzene is prepared from Benzene Diazonium Chloride? Write
chemical reaction only.
Tiiea! A 3R St & A 3R W Dol 2
Differentiate between Schottky defect and Frenkel defect.
HIRYT TG, id:REd T 3R wos-sfad g ths Ditesisil B et St
AT TS B Wil T Diftodt H TN B HeT T g | 2
Explain simple cubic, body centred cubic and face centred cubic unit celis and find
the total number of atoms per unit cell of each.

AY4qi/OR
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10.

11.
12.

13.

14.

15.

U T I DITSSHT DI TRTT 3k Bied T (bec) & Do B PR P ovars 288
pm & T dcd & U 7.2 g/cm? 81 3 acd & 208 W § foaey wamy Jufers &2
An element has a body-centred cubic (bcc) structure with a cell edge of
288 pm. The density of the element is 7.2 g/cm?. How many atoms are present
in 208 g of this element?
Frafaiaa w it Ruot foRae- 1x2=2
Write short notes on the following-
(&) ¥ e fafr (@) oD

Froth floatation Method Flux
IR & far soe & Fram Tafee 2
State the Faraday's Laws of electrolysis.
YHIEA® IR HREgAD B U-Ub J&TeRVT Hied THege| 2
Explain homopolymer and copolymer each with an example.
[NICI, ]2 3/g=®1g 2, Safd [Ni(CO),] wRigraaa &, aft a1 eeserera & aai?

2

[NiCl,]-? is paramagnetic, while [Ni{CO),] is diamagnetic, though both are
tetrahedral. Why?

JUQ1/OR

Frfofaa @ ve-ve amror wfga awemge- 1x2=2
Explain the following each with an example-
(@) FaiHdra TaEaaar (@) JHIeIS FHaaaar

Geometrical Isomerism Optical Isomerism
fFrfoRad & saaive fomama foRee- 1x2=2
Write down the electronic configuration of the following-
(@) Cr+3 (@) Cu* :
FERIGSI 3 U FERI wRATY], BT aeiRige # JufRerd ek aREm] & e 9
fosametier g &, wi? 2

Why Chlorine atom present in Chlorobenzene is less reactive than Chlorine atom
present in Ethyl Chloride?

16. TG T ARETE HGASID § 3R WE B 2

Differentiate between Soap and Synthetic Detergents.

430 IGV) (4]
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17. fp= vt sififisar o Renfaftr frftae - o

Write down the mechanism of the following chemical reaction-
]

Nu:+R—C—X—— (@) + X:
L TR (Product)

18. F=oRaa vei o gRwnfva aifme- 1x3=3
Define the following terms-
(@) THcT (@) Hera (M e v
Normality Molarity Molar fraction
3RAI/OR

4 T BIRCH FIET (VMR 40) BN 517 # Gera 200 T Rera s=man rar| fea= &
Hierera 3R 3o & de T T AR 3

4 gm of caustic soda (molar mass 40) is dissolved in water to prepare 200 gm
of solution. Calculate the molality of the solution and molar fraction of the
solute,

19. Freafofea & oo wfea arsmEe-

Explain the following with reason-

(@) RS pa 2

Lanthanoid Contraction
(@) d-&@id & @ T 3 &1 & 1
d-block elements form coloured ions.
20. fF=foRae o R wfgd aren Sie- 1x3=3
Explain the following with reason-
(B) Ioad (@) fCvsa yvg (m  3med
Coagulation Tyndal Effect Dialysis
21. TO1 &Il 8 371§ (daet TRl FHiaor fufaw) - 1x3=3
What happens when (Write chemical equation only) -
(%) Ui Uebleer bt s &R & JuRerfy & amard @ o= &
Ethyl Alcohol is treated with Iodine in presence of Alkali.
(@) JERIBHE B Bl T AeaH Eegiadrss & fiea & we ™ o< £

Chloroform is heated with the solution of Phenol and Sodium Hydroxide.
430 (IGV) [5] | P.T.0.
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(m e Yewree o 0N aner & ey ™ & &
Ethyl Alcohol is heated with Acetic Acid.

22. Wi, fdos vd gitas MY @ eam & Bt o Rftr @1 avfw Hifde) daftm
sififramsit & wmafae wiasor 9 fefae 3

Describe any one method for the identification of primary, secondary and tertiary
amines. Write the chemical equations also for the reactions involved.

23. BRO Hiea FwaEe o p-aife dal & Frferfaa ovent vw amad A ard A e 5 R
¥ yRafda 8 & 1x3=3

Explain with reason how the following properties of p-block elements trend
while moving from left to right in a period-

@) B (@ R T (m  faga woneTEar
Atomic radius Ionisation energy Electronegativity
JUAT/OR
Ffafaa & sRor Sfse- 1x3=3

Give reasons of the following-
($) H,07%d & 5ale H,S 7 &
H,O is liquid while H,S is gas.
(@) BIFDRY PCl, §T @ Fald TBGISH NCI, Tel a1 &1
Phosphorus forms PCl; while Nitrogen does not forms NCI,.
() CI™ 3139 & AR Cl WRAY] § &7 &1 &
The size of CI” ion is greater than the size of Cl atom.

24. (3) YfFerarags a feeress ¥ sR we Sifsel 2
Differentiate between nucleosides and nucleotides.
(@) DNA 3R RNA % 0% 3R am3e 1
| Give one difference between DNA and RNA.
25. () PeRIY & fFaw B fofkae| 1
State Kohlraush's Law.
(@) 71 A0 & fore 25°C R R aed a1 (e.m.f.) B 7om7 Bfde- 2

Calculate the electromotive force (e.m.f.) of the following cell at 25°C -
Zn|Zn*? (0.01M)||Ag*(1.0M)|Ag
E°.,=1.56V (at 25°C)

317a1/0R
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(B)

(@)

26. (&)

(=)

(@)

e aHiaRT ferfae | 1

Write the Nernst Equation.

= Jet & fore, Jet sf¥fpand ferfan- 2
Write cell reactions for the following cells-

(i) Fe|Fe*?]|H,SO,|H,(Pt)

(i) (Pt)H,[HCI || CL(Pt)

e BifC B affsan & forw wATBfert & wrdftesor & gty Sl 3

Derive the integrated rate equation for the first order reaction.

v M Bife i 3iffsar 1 3w feRie 2.31x10-5 ' 1 s‘ﬂ:ﬂﬁﬁwaﬁ’rm
1a Sl

A first order reaction has rate constant 2.31x10-5 sec!, Calculate the
half-life of the reaction.

G /OR
Rz o fos wem e o aifirfesar & 999% afifisan oof @ & avm v, 90%
3rifebar qol 8 & T v ot g dr | 2

Prove that the time required for 99% completion of a first order reaction is
twice the time required for the completion of 90% reaction.

reTateG AT o1 duz R ffae - 2

Write Collision Theory of Chemical Reactions.

27. HeRIR® e & Hwior o wxaet faftr @ amifea R wfea auie Bfsw awn wefa
e Jftiesan: foRae | aergRe amer & 2 suant it sae 4

Describe Contact method for the manufacture of Sulphuric acid with labelled

diagram and write the chemical reactions involved. Give two uses of Sulphuric

acid also. https://www.ukboardonline.com

AYAT/OR
(@) mﬁﬁm%aﬂﬁﬁmﬁuﬁ%wwwaﬁamaﬁumm@rw
ara+® Hffmant & wieor off fafar 3
Describe Haber's process for the manufacture of Ammonia with diagram
and write the chemical reactions involved during the process.
() a1 81T 8 519 AT o TRH T TGRS 30t F fvam axg &7 1
What happens when copper is treated with hot concentrated sulphuric acid.
430 (IGV) [7] | PT.0.
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28. (@) vd FE® diftes A (3R C,H,0) S 3w & wr fosar 78 axan &, foeg
YT A R e B (C,H,0) 1 21 ifies B B HBr A el aRM W
FEs C &1 &, 3 Voo KOH ¥ f5am o ¥ediF D (C,H,) & &1
difies A, B, C TIT D & UgT Hawds IS Stfsant 9fga diel 3

An organic compound A (molecular formula C,H,O) does not react with
Tollen's reagent but on reduction gives compound B (C,H,0). Compound
B, on treatment with HBr, gives Bromide C, which on treatment with
alcoholic KOH gives Alkene D (C,H,). Identify compounds A, B, C and D
with essential chemical reactions.

(W) MeHM-Bra AUldsar B M- THIERT Aigd forar| 1
Write down the Gattermann-Koch reaction with chemical equation.
JR[ET/OR
ot et et 3 R werr s Feet 8 s AT 31K Tt g At
ferRae- 1x4=4

In following chemical equations, write down the products obtained with their
names and chemical formulae in the blank spaces - '

O
[ H,, Pd/BaSQ
@) jc—c-a gpe— 31136?'?4 >~
Boiling Xylene
o
4
\ COOH
KOH, CH,I
NH e e S
(H) H30+ @ )
COOH
0

0
|
(M H—_c—H 50% NaOH , HCOONa + -~ - -

(4) (CH,;CO0), Ca —x—CaCO;+ —-----
https:/www.ukboardonline.com
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